B N ERE

1. LEA4
THE4 KAy A BAR K B TR I R OV == D 1 5 T 5
TEH 4 T IR e T R S o
2. TENE
1) FHHEH4 RIS SET T % #
2) X LM W T
3) T i 322 H M H & 78 5H 1H
ES 4F0 84 3H18H
4) T EgE

i@ Aokt 5w m



)

B N ERE

T4 | KA KK A R OGEFEZ D 1 5 TF

THXSy « TfE - FER A B & & B # a1l ) 7
LiE - =X 1 150, 758, 266
LT = 1 44, 291, 216
FEHI T (ICT) = 1 41,780,090 |#EH!I (ICT) 9,100 m3
L4
el 27, 400 m3
L4
b 1 =
+rb CEE - ERREY L&) ;
EEEETE T (ICT) = 1 2,511,126 |{EmFER (B 4-5) (ICT) 2, 540 m2
EEETE (& 5F) (ICT) 480 m2
*TEE T 2V 1 43, 541, 440
R L = 1 43, 541, 440 | FRHE Y 1 =
IR,
L4
ST B A 112 ¥
261 JRIREHRMCTE R & 14, 5m Sl RARFTIA
£ 14m ;
PRI 2V 1 6, 829, 604
LT 2V 1 767,604 |FHEY 1 =K
L4
HWREL 1 =
L4
FLE e 1 =
FAET = 1 6, 062, 000 |7 V¥yahHLpk 100 m
H-P-5HI-F
R L 2V 1 26, 030, 750
/) =477 ey T (av) ) =47 ny ) k) = 1 23,674,990 | K7 ny/ik 991 m2
FR-RH-1-0. 35m ;

-1 - ESR o3 E < o] 3 ok S




PR NERE

T4 | KA KK A R OGEFEZ D 1 5 TF

THEXSy - THE - Fl5 A B & & B # ] ) 7
HEEAEY L 2V 1 1,725,260 |7 VEyahpmiE 50. 3 m
b2
VAo VINENIS 10.1 m
/INEIES
SERRa )~} 100 m
Fay-1
P T o 1 630, 500 | 4¥5H A B 25 %
4t Efi15~25cm ;
REER H AT 25 o
4t Efi15~25cm ;
HR[E 6 T2 Y 1 28, 400, 516
RE D7 wy) T Y 1 28,400,516 | HIEARE 7 ny ) BfE 384 &
g7 uy) 4t
FRIE D7 vy s EAF 384 &l
JEitH
g7 uy) 4t
VIR [E D7 my MR E 1 =
g7 uy) 4t
THIEAR [ 6D 7 ny ) TE 1 =
g7 uy) 4t
IR E A UE 97 o
4t Efi15~25cm ;
REER AR 97 o
4t Efi15~25cm ;
R T Y 1 1, 664, 740
THEHERT Y 1 847,200 |TEEIR 1 =
HE-WE
KT Y 1 817,540 |& v7 #HEk 1 E
12084 450 (m3/h) A 1EFEREHIK ;
[ERCAE Xy 2V 1 150, 758, 266

i@ Aokt 5w m




B N ERE

T4 | KA KK A R OGEFEZ D 1 5 TF

THEXS - T - FER - va ¥ = & Hm a1l M 3

s EeE = 1 13, 531, 936
s fEeE = 1 2,948, 936

TR 2V 1 783, 110 | GRS E R 1 2V

IRER B S 1 2V

B gy Y 1 794, 826 | RS ER (ICT) 1 =

YATARI L (ICT) 1 2V

RET 1 =

PENLRT 1 2V
Bl REUER (FE L) Y 1 1, 371, 000
Il (it L) Y 1 10, 583, 000
il TR Y 1 164, 290, 202
Bl 2V 1 39, 758, 000
T =5l Y 1 204, 048, 202
— R B 2V 1 31, 801, 798
T =AM Y 1 235, 850, 000

-3 - ESR o3 E < o] 3 ok S




